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Answer 1:
(A)

As per para 13 of Accounting Standard (AS) 22, Accounting for Taxes on Income”, deferred tax in
respect of timing differences which originate during the tax holiday period and reverse during the tax
holiday period, should not be recognized to the extent deduction from the total income of an enterprise is
allowed during the tax holiday period as per the provisions of sections 10A and 10B of the Income-tax Act.
Deferred tax in respect of timing differences which originate during the tax holiday period but reverse after
the tax holiday period should be recognized in the year in which the timing differences originate. However,
recognition of deferred tax assets should be subject to the consideration of prudence. For this purpose, the
timing differences which originate first should be considered to reverse first.

Out of Rs. 1,000 lakhs depreciation, timing difference amounting Rs. 400 lakhs (Rs. 50 lakhs x 8
years) will reverse in the tax holiday period and therefore, should not be recognized. However, for Rs. 600
lakhs (Rs. 1,000 lakhs — Rs. 400 lakhs), deferred tax liability will be recognized for Rs. 240 lakhs (40% of Rs.
600 lakhs) in first year. In the second year, the entire amount of timing difference of Rs. 2,000 lakhs will
reverse only after tax holiday period and hence, will be recognized in full. Deferred tax liability amounting
Rs. 800 lakhs (40% of Rs. 2,000 lakhs) will be created by charging it to profit and loss account and the total
balance of deferred tax liability account at the end of second year will be Rs. 1,040 lakhs (240 lakhs + 800
lakhs).

(B)

Constructing or acquiring a new asset may result in incremental costs that would have been avoided
if the asset had not been constructed or acquired. These costs are not be included in the cost of the asset if
they are not directly attributable to bringing the asset to the location and condition necessary for it to be
capable of operating in the manner intended by management.

The costs to be incurred by the company are in the nature of costs of reducing or reorganizing the
operations of the accompany. These costs do not meet that requirement of AS 10 “Property, Plant and

Equipment” and cannot, therefore, be capitalized.

©

Accounting Standard 2 “Valuation of Inventories” states that inventories should be valued at lower
of historical cost and net realizable value. The standard states, “at certain stages in specific industries, such
as when agricultural crops have been harvested or mineral ores have been extracted, performance may be
substantially complete prior to the execution of the transaction generating revenue. In such cases, when sale
is assured under forward contract or a government guarantee or when market exists and there is a negligible
risk of failure to sell, the goods are often valued at net realizable value at certain stages of production.”

Terry Towels do not fall in the category of agricultural crops or mineral ores. Accordingly, taking into
account the facts stated, the closing inventory of finished goods (Fancy terry towel) should have been valued
at lower of cost and net realizable value and not at net realizable value. Further, export incentives are
recorded only in the year the export sale takes place. Therefore, the policy adopted by the company for
valuing its closing inventory of inventories of finished goods is not correct.

(D)

AS 17 *‘Segment Reporting’ requires that inter-segment transfers should be measured on the basis
that the enterprise actually used to price these transfers. The basis of pricing inter-segment transfers and
any change therein should be disclosed in the financial statements. Hence, the enterprise can have its own
policy for pricing inter - segment transfers and hence, inter-segment transfers may be based on cost,
below cost or market price. However, whichever policy is followed, the same should be disclosed and
applied consistently. Therefore, in the given case inter -segment transfer pricing policy adopted by the
company is correct if followed consistently.
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Answer 2:
(A)
In the books of Smart Investments
12% Govt. Bonds for the year ended 31st March, 2018
Particulars| Nos. | Incom| Amount| Date Particulars Nos.
e
T Opening balance | 1,20| 3,600, 1,26,000 30.6.17 | By Bank A/c
o b/d 0 (Interest) (3,200 x
100 x 12%
X 6/12)
2.5.17 | T Bank A/c 1,92,000 By Bank A/c 1,57,500
0
31.3.18| T P & L A/c (Interest) By Bank A/c
0 (Interest) (1,700 x
100 x 12%
X 6/12)
TP&LA/C 8,437.50 By Bal. c/d 1,700 5,100] 1,68,937.50
0 (Profit on
Sale)

3,20 | 39,000 3,26,437.5 3,200, 39,000 3,26,437.50
0 0

Investments in Equity shares of X Ltd. for year ended 31.3.2018
Particular| Nos. | Income| Amount| Date Particulars
S
T Bank A/c 5,000 10,10,000
0
T Bonus Issue 2,000 By Bank (Dividend)
0
T Bank A/c 800 2,00,000 By Bank (Sale)
0
TP&LA/ 4,800| 4,28,500 By Bank (interim
0 dividend)
By Bal. c/d

7,800| 4,800 16,38,500

Working Notes:
1. Profit on sale of bonds on 30.9.17
= Sales proceeds — Average cost
Sales proceeds = Rs. 1,57,500
Average cost =Rs. [(1,26,000+1,92,000) @ 1,500/3,200] = 1,49,062.50
Profit = 1,57,500-Rs. 1,49,062.50=Rs. 8,437.50
Valuation of bonds on 31st March, 2018

Cost = Rs. 3,18,000/3,200 x1,700 = 1,68,937.50

Cost of equity shares purchased on 15/4/2017

= Cost + Brokerage
= (5,000 x Rs. 200) + 1% of (5,000 x Rs. 200) = Rs. 10,10,000

Sale proceeds of equity shares on 15/12/2017
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= Sale price — Brokerage

= (3,000 x Rs. 300) — 1% of (3,000 x Rs. 300) = Rs. 8,91,000.

Profit on sale of shares on 15/12/2017

= Sales proceeds — Average cost

Sales proceeds = Rs. 8,91,000

Average cost = Rs. [(10,10,000+2,00,000-7,500) x 3,000/7,800]
Rs. [12,02,500 x 3,000/7,800] = 4,62,500

Profit Rs. 8,91,000 - Rs. 4,62,500=Rs. 4,28,500.

Valuation of equity shares on 31st March, 2018
Cost =Rs. [12,02,500 x 4,800/7,800] = Rs. 7,40,000
Market Value = 4,800 shares xRs. 220 =Rs. 10,56,000

Closing stock of equity shares has been valued at Rs. 7,40,000i.e. cost being lower
than the market value.

Note: If rights are not subscribed for but are sold in the market, the sale proceeds are taken to

the profit and loss statement as per para 13 of AS 13 “Accounting for Investments”.

Cash Flow Statement from Investing Activities of Creative Furnishings

Limited for the year ended 31-03-2017

Cash generated from investing activities Rs.

Interest on loan received 82,500
Pre-acquisition dividend received on investment made 62,400
Unsecured loans given to subsidiaries (4,85,000)
Interest received on investments (gross value) 76,200
TDS deducted on interest (8,200)
Sale of plant 74,400
Cash used in investing activities (before extra ordinary (1,97,700)
item)
Extraordinary claim received for loss of plant _49,600

Net cash used in investing activities (after extra ordinary (1,48,100)
item)

Debenture interest paid and Term Loan repaid are financing activities and therefore not
considered for preparing cash flow from investing activities.

Plant acquired by issue of 8% debentures does not amount to cash outflow, hence also
not considered in the above cash flow statement.

Answer 3:

(A)

Pre-incorporation period is for two months, from 1st April, 2017 to 315t May, 2017.
10 months’ period (from 1St June, 2017 to 31st March, 2018) is post-incorporation period.
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Statement showing calculation of profit/losses for pre and post incorporation
periods

Pre-Inc Post-Inc
Rs. Rs.
Gross Profit 50,000 4,00,000
Bad debts Recovery 14,000
64,000 4,00,000
Less: Salaries 24,000 1,20,000
Audit fees - 12,000
Depreciation 3,000 16,250

Sales commission 2,000 16,000

Bad Debts (49,000 + 14,000) 7,000 56,000

Interest on Debentures 36,000

Rent 4,000 34,400

Net Profit 24,000 1,09,350

Working Notes:
()  Calculation of ratio of Sales
Sales from April to September = 6,00,000 (1,00,000 p.m. on average basis) Oct. to
March = Rs.12,00,000 (2,00,000 p.m. on average basis)
Thus, sales for pre-incorporation period = Rs.2,00,000 post-
incorporation period =Rs.16,00,000
Sales are in the ratio of 1:8

Gross profit, sales commission and bad debts written off have been allocated in pre and
post incorporation periods in the ratio of Sales.

Rent, salary are allocated on time basis.
Interest on debentures is allocated in post incorporation period.
Audit fees charged to post incorporation period as relating to company audit.

Depreciation of Rs. 18,000 divided in the ratio of 1:5 (time basis) and Rs. 1,250 charged to
post incorporation period.

Bad debt recovery of Rs. 14,000/- is allocated in pre-incorporation period, being sale
made in 2014-15.

Rent

(Rs. 38,400 — Additional rent for 6
months)

[38,400- 14,400 (2,400 X 6)]
1/4/17 -31/5//17 (2,000 x 2)
1/6/17 -31/3/18 — [(2,000 x 10) +14,400]
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Memorandum Trading Account for the period 15t April, 2017 to 29th August 2017

Rs. Rs.
Opening Stock 3,95,050| By Sales 22,68,000

Purchases 16,55,350 By Closing stock 4,41,300
(Bal. fig.)

Less: Advertisement| (20,500)

Drawings (1,000) (16,33,850

Gross Profit
[30% of Sales] 6,80,400

[WN]

27,09,300 27,09,300

Statement of Insurance Claim

Rs.
Value of stock destroyed by fire 4,41,300
Less: Salvaged Stock (54,000)
Add: Fire Fighting Expenses 2,350
Insurance Claim 3,89,650

Note: Since policy amount is more than claim amount, average clause will not apply. Therefore,
claim amount of Rs. 3,89,650 will be admitted by the Insurance Company.

Working Note:
Trading Account for the year ended 315t March, 2017

Rs. Rs.

To Opening Stock 3,55,250 | By Sales 40,00,000

To Purchases 28,39,800 | By Closing stock 3,95,050
To Gross Profit 12,00,000

43,95,050 43,95,050

Rate of Gross Profit in 2016-17

6ross Profit 100 - 12,00,000 / 40,00,000 x 100 = 30%

Sales

Answer 4:
(A)
Trading and Profit and Loss Account For the year ending on 315t March, 2016

Particulars Rs. | Particulars Rs.
To Opening Stock 20,000 | By Sales 1,80,000
To Purchases (bal.fig.); 1,54,000 | By Closing Stock 30,000

To Gross Profit ¢/d (@20% on 36,000 2,10,000
sales)

2,10,000
To Sundry Business Expenses 20,000 | By Gross Profit b/d 36,000
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Furniture
Motor

to Capital A/c

To Depreciation on Building

Net profit transferred

36,000

Balance Sheet as at 315t March, 2016

Liabilities

Rs. | Assets

Capital Account:
Opening Balance
Add: Net profit

Less: Drawings

Loan

Sundry Creditors
Outstanding Expenses

Building

Less: Depreciation
Furniture

Less: Depreciation
Motor Car

Less: Depreciation
Stock in trade
Sundry Debtors
Cash at Bank

Sundry Advances
(Amount recoverable
from Cashier)

1,20,325

Working Notes:
(i

Total Debtors Account

Particulars

Rs.

Particulars

Rs.

To Balance b/d

To Sales (80% of
Rs. 1,80,000)

17,000

1,44,000

1,61,000

By Bank (Rs. 1,40,000 — Rs.
35,000)
By Cash A/c

By Balance c/d

1,05,000

35,000

(ii)

Total

Creditors Account

Particulars

Rs.

Particulars

Rs.

To Bank
To Balance c/d

1,37,500
47,500
1,85,000

By Balance b/d
By Purchases

31,000
1,54,000
1,85,000

(i) CashrBook

Particulars

Bank Rs.

Particulars

Cash Rs.

Bank Rs

To Balance b/d
To Sales

To Sundry
Debtors

To Cash (Contra)
To Bank (Contra)

1,05

71

8,500

By Business Expenses
By Drawings

,000 | By Sundry Creditors

,500 | By Bank (Contra)

By Cash (Contra)

9,000

6,000
7,500
1,37,500

12,000
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By Defalcation (Bal fig.) 4,500

By Balance c/d (Bal fig.
y ( 9) 22,000

85,000 | 1,85,000 85,000 | 1,85,000

(iv) Last year’s Total Sales = Gross Profit x 100/20 = Rs. 30,000 x 100/20 = Rs. 1,50,000
(v) Currentyear’s Total Sales = Rs. 1,50,000+ 20% of Rs. 1,50,000=Rs. 1,80,000

(vi) Currentyear’s Credit Sales = Rs. 1,80,000 x 80%= Rs. 1,44,000
(vi) Cost of Goods Sold = Sales — G.P. = Rs.1,80,000 — Rs. 36,000 = Rs. 1,44,000
(viii) Purchases = Cost of Goods Sold + Closing Stock — Opening Stock

=Rs. 1,44,000 + Rs. 30,000 — Rs. 20,000 = Rs. 1,54,000

Journal Entries in the books of Xeta Ltd.

Rs. Rs.
1-4-2017 | Equity share final call A/c .| 5,40,000

To Equity share capital A/c

(For final calls of Rs. 2 per share on
2,70,000 equity shares due as per Board’s
Resolution dated....)

20-4-2017 Bank A/c . 5,40,000
To Equity share final call A/c 5,40,000

(For final call money on 2,70,000 equity
shares received)

5,40,000

Securities Premium A/c .11,00,000
General Reserve A/c .1 3,60,000
Profit and Loss A/c .12,15,000
To Bonus to shareholders A/c 6,75,000

(For making provision for bonus issue of
one share for every four shares held)

Bonus to shareholders A/c .16,75,000
To Equity share capital A/c 6,75,000
(For issue of bonus shares)

Extract of Balance Sheet as at 30th April, 2017 (after bonus issue)

Rs.

Authorised Capital
50,000 12% Preference shares of Rs.10 each 5,00,000
4,00,000 Equity shares of Rs.10 each 40,00,000
Issued and subscribed capital
24,000 12% Preference shares of Rs.10 each, fully paid 2,40,000
3,37,500 Equity shares of Rs.10 each, fully paid 33,75,000

(Out of above, 67,500 equity shares @ Rs.10 each were issued by
way of bonus)

Reserves and surplus
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‘ Profit and Loss Account 3,85,000

Answer 5:
(A)
Trading and Profit and Loss Account for the year ended on 315t Match, 2017

Particulars A (Rs.)| B (Rs.)| C(Rs.)| Particulars A (Rs.)|B(Rs.)|C (Rs.)
To Opening Stock | 8,500 5,700 1,200 | By Salesless |50,000 {30,000 (20,000
Sales
returns

To Purchases 22,000 (17,000 8,000 |By Closing 3,500| 2,000| 1,500
Stock

To Freight & 1,400 800 200
carriage
To Wages 800 700 200
To Gross profit 20,800 7,800 (11,900
53,500 | 32,000 | 21,500 32,000 {21,500
To Salaries 2,250 1,350 900 | By Gross Profit 7,800(11,900
To Power & Water| 600 360 240

To Telephone 1,060 630 420
Charges

To Bad Debts 375 225 150
ToRent & Taxes {3,000 |1,800 1,200
To Insurance 750 450 300

To Printing & 1,000 |600 400
Stationery

To Advertising 1,750 (1,050 {700

To Depreciation 3,000 {1,800 {1,200
(2,000 +4,000)
To Net Profit 7,025 6,390 |By NetLoss

20,800 (8,265 (11,900
Balance Sheet as at 31.03.2017

Liabilities Rs. Assets

Capital A/c Furniture &
Fixtures
Add: Net Plant & Machinery
Profit (Rs.
7,025 +Rs. 6,390)

Less: Depreciation
Less: Netlossin DeptB | _ 465 Motor Vehicles
Less: Depreciation
Less: Drawings 51,450 | Sundry Debtors
Sundry Creditors 15,000 | Cash in hand
Bank Overdraft 12,000 | Closing Stock
Wages Outstanding _ 200

78,650 78,650

Note: All expenses have been allocated among departments in proportion of their sales in the
solution as per the specific requirement of the question.
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(B)

(i) Adjustment for raising & writing off of goodwill

Goodwill raised in old Goodwill Difference
profit sharing ratio written off in
new ratio

AB & Co. | CD&Co. Total AD & Co.
Rs. Rs. Rs. Rs. Rs.
50,000 50,000 Cr. 31,250 Dr. 18,750 Cr.
25,000 25,000 Cr. 15,625 Dr. 9,375 Cr.
30,000 | 30,000Cr. 46,875 Dr. 16,875 Dr.
20,000 | 20,000Cr. 31,250 Dr. 11,250 Dr.
50,000 1,25,000 1,25,000

In the books of AD & Co.

Journal Entries
Date Particulars Debit
Rs.
April 1, 2017 | Building A/c Dr.| 1,00,000
Machinery A/c Dr.| 1,25,000
Furniture A/c Dr. 15,000
Stock A/c Dr.| 24,000
Debtors A/c Dr.| 65,000
CD & Co. A/c Dr.| 47,000
Cash at bank A/c Dr.| 18,000
Cash in hand A/c Dr. 4,000
To Provision for doubtful debts A/c 5,000
To Creditors A/c 52,000
To A’s capital A/c (W.N. 2a) 2,10,667
To B’s capital A/c (W.N.2 a) 1,30,333

(Being the sundry assets and liabilities
of AB & Co. taken over at the values
stated as per the agreement)

Building A/c .| 1,25,000
April 1, 2017
Machinery A/c .| 1,10,000
Furniture A/c . 12,000
Stock A/c . 36,000
Debtors A/c . 78,000
Cash at bank A/c . 15,000
Cashin hand A/c . 5,000

To Provision for doubtful debts
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Alc
To Creditors A/c 35,000
To AB & Co. A/c 47,000
To C’s capital A/c (W.N. 2b) 1,74,600
To D’s capital A/c (W.N. 2b) 1,16,400

(Being the sundry assets and liabilities
of CD & Co. taken over at the values
stated as per the agreement)

C’s capital A/c

D’s capital A/c
To A’s capital A/c
To B’s capital A/c

(Being adjustment in capital accounts
of the partners on account of goodwill)

AB & Co. A/c
ToCD & Co. A/c

(Being mutual indebtedness of AB & Co.
and CD & Co. cancelled)

A’s Capital A/c | 1,24,267
To A’s Current A/c 1,24,267

(Being excess amount in A’s capital A/c
transferred to A’s current A/c - refer
W.N.3)

B’s Capital A/c
To B’s Current A/c

(Being excess amount in B’s capital A/c
transferred to B’s current A/c - refer
W.N.3)

Working Notes:

(1) Profit on Revaluation
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Building (1,00,000 — 75,000)
(1,25,000 — 90,000)

Machinery (1,25,000 - 1,20,000)
(1,210,000 - 1,00,000)

Less: Provision for doubtful debts

25,000

(2) Balance of capital accounts of partners on transfer of business to AD & Co.
a) AB& Co.

A’s Capital | B’s Capital

Rs. Rs.

Balance as per the Balance Sheet 1,50,000 | 1,00,000
Reserves in the profits and losses sharing ratio 44,000 22,000

Profit on revaluation in the profits and losses sharing

ratio (W.N.1) 16,667 8,333

2,10,667 | 1,30,333

C’s Capital | D’s Capital

Rs. Rs.

Balance as per the Balance Sheet 1,20,000

Reserves in the profits and losses sharing ratio 32,400

Profit on revaluation in the profits and losses sharing
ratio (W.N.1)

22,200 14,800

1,74,600 1,16,400

(3) Calculation of capital of each partner in the new firm

Particulars A D

Rs. Rs. . Rs.

Balance as per W.N.2 2,10,667| 1,30,333| 1,74,600| 1,16,400
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Adjustment for goodwill

Total capital Rs. 4,20,600* in
the new ratio of 2:1:3:2

Transfer to Current Account

18,750

9,375

(16,875)

(11,250)

2,29,417

(1,05,150)

1,39,708

(52,575)

1,57,725

(1,57,725)

1,05,150

(1,05,150)

1,24,267 Cr.

87,133 Cr.

* Taking D’s capital as the base which is 2/8tN of total capital; total capital will be 1,05,150 x

8/2i.e.Rs. 4,20,600.

Answer 6:
(A)

Yes, one of the characteristics of financial statements is neutrality. To be reliable, the information
contained in financial statement must be neutral, that is free from bias.

Financial Statements are not neutral if by the selection or presentation of information, the focus of
analysis could shift from one area of business to another thereby arriving at a totally different
conclusion on the business results.

For example, if the assets of a company primarily consist of trade receivables and insurance claims
and the financial statements do not specify that the insurance claims have been lying unrealized
for a number of years or that a few key trade receivables have not given balance confirmation
certificates, an erroneous conclusion may be drawn on the liquidity of the company. Financial
statements are said to depict the true and fair view of the business of the organization by virtue of
neutrality.

-Rs.
4,00,000
1,20,000

2,80,00
0

Price of two cars = Rs. 2,00,000 x 2
Less: Depreciation for the first year @ 30%

Less: Depreciation for the second year = Rs. 2, 80,000 x 30

84,00
0
1,96,000

2,00,000
40,000
1,60,000
32,000

Agreed value of two cars taken back by the hire vendor
Cash purchase price of one car

Less: Depreciation on Rs. 2,00,000 @20% for the first year
Written drown value at the end of first year

Less: Depreciation on Rs. 1,60,000 @ 20% for the second
year

Book value of car left with the hire purchaser

1,28,000
Book value of one car as calculated in working note (ii) 1,28,000
above

Book value of Two cars =Rs. 1,28,000 x 2

Value at which the two cars were taken back, calculated in
working note (i) above

Hence, loss on cars taken back = Rs. 2,56,000 - Rs. 1,96,000

2,56,000
1,96,000

Rs. 60,000

Sale proceeds of cars repossessed 1,70,000
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Less: Value at which Cars were taken backRs. 1,96,000

Repair

Rs. 10,000

Loss on resale

Under section 27 (3) of the LLP Act, 2008 an obligation of an LLP arising out of a contract or
otherwise, shall be solely the obligation of the LLP. The limitations of liability of an LLP and its
partners are as follows:

The Liabilities of an LLP shall be met out of the properties of the LLP;

A partner is not personally liable, directly or indirectly (for an obligation of an LLP
arising out of a contract or otherwise), solely by reason of being a partner in the

LLP;

An LLP is not bound by anything done by a partner in dealing with a person, if:

e The partner does not have the authority to act on behalf of the LLP in doing a
particular act; and

The other person knows that the partner has no authority or does not know or

believe him to be a partner in the LLP

+ The liability of the LLP and the partners perpetrating fraudulent dealings shall be unlimited for all
or any of the debts or other liabilities of the LLP.

Elements of Financial Statements

The Framework for preparation and Presentation of financial statements classifies items of
financial statements can be classified in five broad groups depending on their economic
characteristics: Asset, Liability, Equity, Income/Gain and Expense/Loss.

Asset

Liability

Equity

Income/gain

Expense/loss

Resource controlled by the enterprise as a result of past
events from which future economic benefits are expected to
flow to the enterprise

Present obligation of the enterprise arising from past events,
the settlement of which is expected to result in an outflow of
a resource embodying economic benefits.

Residual interest in the assets of an enterprise after deducting
all its liabilities.

Increase in economic benefits during the accounting period in
the form of inflows or enhancement of assets or decreases in
liabilities that result in increase in equity other than those
relating to contributions from equity participants

Decrease in economic benefits during the accounting period
in the form of outflows or depletions of assets or incurrence
of liabilities that result in decrease in equity other than those
relating to distributions to equity participants.
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